Communications in Mathematics and Applications

Volume 1, Number 3 (2010), pp. 153–164 © RGN Publications



Periodic Boundary Value Problems for the Second Order Impulsive Differential Equations

Chatthai Thaiprayoon, Jessada Tariboon, and Preya Khumsup

Abstract. This paper is concerned with solutions of periodic boundary value problems for the second order impulsive differential equation. We prove the existence of extreme solutions and present the method of lower and upper solutions coupled with monotone iterative technique. Some comparison results are also established.

1. Introduction

Many evolution processes are characterized by the fact that at certain moments of time they experience a change of state abruptly. Often these short-term perturbations are treated as having acted instantaneously or in the form of impulses. Impulsive differential equations have been developed for modelling impulsive problems in physics, medicine, population dynamics, biotechnology, control theory, etc. (see also ref. [1, 5]). The monotone iterative technique combined with lower and upper solutions has been applied to obtain existence results for first order [4, 7] and second order [2, 3, 6] impulsive differential equation with initial or boundary value conditions.

In this paper, we consider the second-order impulsive functional differential equation with boundary conditions,

$$\begin{cases}
-x''(t) = f(t, x(t), x(\alpha(t))) - K(t)x'(t) \equiv Fx(t), \\
 & t \neq t_k, \ t \in J = [0, T], \\
\Delta x(t_k) = P_k(x(t_k), x'(t_k)), & k = 1, \dots, m, \\
\Delta x'(t_k) = Q_k(x(t_k), x'(t_k)), & k = 1, \dots, m, \\
x(0) = x(T), \\
x'(0) = x'(T),
\end{cases}$$
(1.1)

²⁰⁰⁰ Mathematics Subject Classification. 34B15; 34B37.

where $f \in C(J \times \mathbb{R}^2, \mathbb{R})$, $0 \le \alpha(t) \le t$, $P_k, Q_k \in C(\mathbb{R}^2, \mathbb{R})$, $K \in C(J, \mathbb{R}^+)$, $\Delta x(t_k) = x(t_k^+) - x(t_k^-)$, $\Delta x'(t_k) = x'(t_k^+) - x'(t_k^-)$, $x(t_k^+)$ and $x(t_k^-)$ denote the right and left limits of x at t_k , respectively. Similarly, $x'(t_k^+)$ and $x'(t_k^-)$ denote the right and left limits of x' at t_k , respectively.

This paper is organized as follows. In Section 2, we introduce the concepts of lower and upper solutions and formulate some lemmas which are necessary in our discussion. In section 3, by using the method of lower and upper solutions and the monotone iterative technique we prove the existence of extreme solutions for PBVP (1.1).

2. Preliminaries

 $J' = J \setminus \{t_1, t_2, \dots, t_m\}, \ J_0 = [t_0, t_1], \ J_k = (t_k, t_{k+1}], \ k = 1, \dots, m, \ 0 = t_0 < t_1 < \dots < t_m < t_{m+1} = T, \ PC(J, \mathbb{R}) = \{x : J \to \mathbb{R}, \ x|_{J_k} \in C(J_k, \mathbb{R}), k = 0, 1, \dots, m \text{ and there exist } x(t_k^+) \text{ for } k = 1, 2, \dots, m\}, \ PC^1(J, \mathbb{R}) = \{x : J \to \mathbb{R}, x|_{J_k} \in C^1(J_k, \mathbb{R}), \ k = 0, 1, \dots, m \text{ and there exist } x'(t_k^+) \text{ for } k = 1, \dots, m\}. \ \text{Let } PC(J, \mathbb{R}) \text{ and } PC^1(J, \mathbb{R}) \text{ be Banach spaces with the respective norms,}$

$$||x||_{PC} = \sup_{t \in J} |x(t)|, \quad ||x||_{PC^1} = \max_{t \in J} \{||x||_{PC}, ||x'||_{PC}\}.$$

A function $x \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$ is called a solution of PBVP (1.1) if it satisfies (1.1).

Definition 2.1. We say that the function $y_0 \in PC^1(J,\mathbb{R}) \cap C^2(J,\mathbb{R})$ is called a lower solution of the PBVP (1.1) if

$$\begin{cases}
-y_0''(t) \le f(t, y_0(t), y_0(\alpha(t))) - K(t)y_0'(t) \equiv Fy_0(t), & t \in J', \\
\Delta y_0(t_k) = P_k(y_0(t_k), y_0'(t_k)), & k = 1, ..., m, \\
\Delta y_0'(t_k) \ge Q_k(y_0(t_k), y_0'(t_k)), & k = 1, ..., m, \\
y_0(0) = y_0(T), \\
y_0'(0) \ge y_0'(T),
\end{cases}$$
(2.1)

and it is called an upper solution of the PBVP (1.1) if the above inequalities are reversed.

Lemma 2.2. Assume that $p \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$,

$$\begin{cases} p''(t) \ge K(t)p'(t) + M(t)p(t) + N(t)p(\alpha(t)), & t \in J', \\ \Delta p(t_k) = L_k p'(t_k), & k = 1, \dots, m, \\ \Delta p'(t_k) \ge L_k^* p'(t_k), & k = 1, \dots, m, \\ p(0) = p(T), & p'(0) \ge p'(T), \end{cases}$$
(2.2)

where $M, N \in C(J, \mathbb{R}^+)$. Also assume that $L_k, L_k^* \geq 0$ and

$$\left(\sum_{i=1}^{m} L_{i} + T\right) \left(\frac{1}{e^{\int_{0}^{T} K(s)ds}} + 1\right) \times \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_{i}} H^{*}(s)ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*})\right] + \int_{0}^{T} H^{*}(s)ds\right) \leq 1,$$
(2.3)

where $H^*(t) \equiv e^{\int_t^T K(s)ds} [M(t) + N(t)]$ and $\inf\{H^*(t); t \in J\} > 0$ hold, then $p(t) \leq 0$ on J.

Proof. Firstly, we show that $\inf\{p(t); t \in J\} \le 0$. If p'(t) > 0 for all t, it follows that p(t) is increasing and $\Delta p(t_k) = L_k p'(t_k) \ge 0$, then p(0) < p(T), a contradiction. Hence, there exists a point $\check{t} \in J_h$, $h \in \{0,\ldots,m\}$, such that $p'(\check{t}) \le 0$. Let $\inf\{p(t); t \in J\} = b$, where b is a constant, and there exists $t_* \in J_r$, $r \in \{0,\ldots,m\}$ such that $p(t_*) = b$ or $p(t_r^+) = b$. We only consider $p(t_*) = b$, for the case $p(t_r^+) = b$ the proof is similar. Let $u(t) = (e^{\int_t^T K(s)ds}p'(t))$, we have

$$u'(t) = (e^{\int_{t}^{T} K(s)ds} p'(t))' = e^{\int_{t}^{T} K(s)ds} [p''(t) - K(t)p'(t)]$$

$$\geq e^{\int_{t}^{T} K(s)ds} [M(t)p(t) + N(t)p(\alpha(t))] ds \equiv \eta(t), \tag{2.4}$$

and

$$\Delta u(t_k) = \Delta(e^{\int_{t_k}^T K(s)ds} p'(t_k)) \ge L_k^* e^{\int_{t_k}^T K(s)ds} p'(t_k),$$

$$u(t_k^+) \ge (1 + L_k^*) u(t_k). \tag{2.5}$$

Then, we obtain

$$u(\check{t}) \geq u(0) \left[\prod_{i=1}^{h} (1 + L_{i}^{*}) \right] + \sum_{i=1}^{h} \int_{t_{i-1}}^{t_{i}} \eta(s) ds \left[\prod_{j=i}^{h} (1 + L_{j}^{*}) \right] + \int_{t_{h}}^{\check{t}} \eta(s) ds,$$

$$0 \geq u(0) \left[\prod_{i=1}^{h} (1 + L_{i}^{*}) \right] + b \sum_{i=1}^{h} \int_{t_{i-1}}^{t_{i}} H^{*}(s) ds \left[\prod_{j=i}^{h} (1 + L_{j}^{*}) \right] + b \int_{t_{h}}^{\check{t}} H^{*}(s) ds.$$

Thus

$$u(0) \le \frac{-b}{\prod_{i=1}^{h} (1 + L_i^*)} \left(\sum_{i=1}^{h} \int_{t_{i-1}}^{t_i} H^*(s) ds \left[\prod_{j=i}^{h} (1 + L_j^*) \right] + \int_{t_h}^{t} H^*(s) ds \right). \tag{2.6}$$

Similarly, we can prove that

$$u(T) \ge u(t) \left[\prod_{i=l+1}^{m} (1 + L_i^*) \right] + \sum_{i=l+1}^{m} \int_{\bar{t}_{i-1}}^{\bar{t}_i} \eta(s) ds \left[\prod_{j=i}^{m} (1 + L_j^*) \right] + \int_{\bar{t}_m}^{T} \eta(s) ds$$

$$\ge u(t) \left[\prod_{i=l+1}^{m} (1 + L_i^*) \right] + b \sum_{i=l+1}^{m} \int_{\bar{t}_{i-1}}^{\bar{t}_i} H^*(s) ds \left[\prod_{j=i}^{m} (1 + L_j^*) \right] + b \int_{\bar{t}_m}^{T} H^*(s) ds, (2.7)$$

for $t \in J_l = (t_l, t_{l+1}]$, where $\bar{t}_l = t$, $\bar{t}_k = t_k$, $\bar{J}_k = (\bar{t}_k, \bar{t}_{k+1}]$, k = l+1, l+2, ..., m. By using (2.2) and inequality (2.6), (2.7), we get that

$$u(t) \leq \frac{-b}{\prod_{i=l+1}^{m} (1 + L_i^*)} \left[\frac{1}{e^{\int_0^T K(s)ds} \prod_{i=1}^{h} (1 + L_i^*)} \right]$$

$$\times \left(\sum_{i=1}^{h} \int_{t_{i-1}}^{t_{i}} H^{*}(s) ds \left[\prod_{j=i}^{h} (1 + L_{j}^{*}) \right] + \int_{t_{h}}^{t} H^{*}(s) ds \right)$$

$$+ \sum_{i=l+1}^{m} \int_{\bar{t}_{i-1}}^{\bar{t}_{i}} H^{*}(s) ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*}) \right] + \int_{\bar{t}_{m}}^{T} H^{*}(s) ds \right].$$
 (2.8)

Substituting $u(t) = (e^{\int_t^T K(s)ds} p'(t))$ into (2.8), we have

$$p'(t) \leq \frac{-b}{e^{\int_{t}^{T} K(s)ds} \prod_{i=l+1}^{m} (1 + L_{i}^{*})} \left[\frac{1}{e^{\int_{0}^{T} K(s)ds} \prod_{i=1}^{h} (1 + L_{i}^{*})} \times \left(\sum_{i=1}^{h} \int_{t_{i-1}}^{t_{i}} H^{*}(s)ds \left[\prod_{j=i}^{h} (1 + L_{j}^{*}) \right] + \int_{t_{h}}^{t} H^{*}(s)ds \right) + \sum_{i=l+1}^{m} \int_{\bar{t}_{i-1}}^{\bar{t}_{i}} H^{*}(s)ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*}) \right] + \int_{\bar{t}_{m}}^{T} H^{*}(s)ds \right].$$
 (2.9)

By (2.9) if b > 0, which implies p'(t) < 0 for all t, $\Delta p(t_k) = L_k p'(t_k) \le 0$, k = 1, ..., m and p(0) > p(T) a contradicts. Then, we have $\inf\{p(t); t \in J\} \le 0$.

Next, we will prove that $p(t) \le 0$ for all $t \in J$. Suppose, to the contrary, that $p(t^*) > 0$ for some $t^* \in J_{\nu}$, $\nu \in \{0, ..., m\}$. By letting b = -d where $d \ge 0$ from (2.9), we have

$$p'(t) \leq \frac{d}{e^{\int_{t}^{T} K(s)ds} \prod_{i=l+1}^{m} (1+L_{i}^{*})} \left[\frac{1}{e^{\int_{0}^{T} K(s)ds} \prod_{i=1}^{h} (1+L_{i}^{*})} \times \left(\sum_{i=1}^{h} \int_{t_{i-1}}^{t_{i}} H^{*}(s)ds \left[\prod_{j=i}^{h} (1+L_{j}^{*}) \right] + \int_{t_{h}}^{t} H^{*}(s)ds \right) + \sum_{i=l+1}^{m} \int_{\tilde{t}_{i-1}}^{\tilde{t}_{i}} H^{*}(s)ds \left[\prod_{j=i}^{m} (1+L_{j}^{*}) \right] + \int_{\tilde{t}_{m}}^{T} H^{*}(s)ds \right] \leq d \left(\frac{1}{e^{\int_{0}^{T} K(s)ds}} + 1 \right) \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_{i}} H^{*}(s)ds \left[\prod_{j=i}^{m} (1+L_{j}^{*}) \right] + \int_{0}^{T} H^{*}(s)ds \right). (2.10)$$

Assume that $t^* > t_*$ then v > r. For the case $t^* < t_*$, the proof is similar and thus we omit it. By mean value theorem, we have

$$p(t^{*}) - p(t_{\nu}) = p(t^{*}) - p(t_{\nu}^{+}) + L_{\nu}p'(t_{\nu})$$

$$= p'(s_{\nu})(t^{*} - t_{\nu}^{+}) + L_{\nu}p'(t_{\nu}), s_{\nu} \in (t_{\nu}, t^{*})$$

$$\leq d(L_{\nu} + (t^{*} - t_{\nu}^{+})) \left(\frac{1}{e^{\int_{0}^{T} K(s)ds}} + 1\right)$$

$$\times \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_{i}} H^{*}(s) ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*}) \right] + \int_{0}^{T} H^{*}(s) ds \right)$$

$$p(t_{v}) - p(t_{v-1}) \leq d \left(L_{v-1} + (t_{v} - t_{v-1}^{+}) \right) \left(\frac{1}{e^{\int_{0}^{T} K(s) ds}} + 1 \right)$$

$$\times \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_{i}} H^{*}(s) ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*}) \right] + \int_{0}^{T} H^{*}(s) ds \right)$$

$$\vdots$$

$$p(t_{r+1}) - p(t_{*}) \leq d \left(L_{r} + (t_{r+1} - t_{*}) \right) \left(\frac{1}{e^{\int_{0}^{T} K(s) ds}} + 1 \right)$$

$$\times \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_{i}} H^{*}(s) ds \left[\prod_{j=i}^{m} (1 + L_{j}^{*}) \right] + \int_{0}^{T} H^{*}(s) ds \right).$$

Summing up we obtain

$$\begin{split} p(t^*) - p(t_*) &\leq d \left(\sum_{i=1}^m L_i + T \right) \left(\frac{1}{e^{\int_0^T K(s) ds}} + 1 \right) \\ &\times \left(\sum_{i=1}^m \int_{t_{i-1}}^{t_i} H^*(s) ds \left[\prod_{j=i}^m (1 + L_j^*) \right] + \int_0^T H^*(s) ds \right). \end{split}$$

Finally, we have the next two cases.

(i) if b < 0, then

$$0 < p(t^*) \le p(t_*) + d\left(\sum_{i=1}^m L_i + T\right) \left(\frac{1}{e^{\int_0^T K(s)ds}} + 1\right)$$

$$\times \left(\sum_{i=1}^m \int_{t_{i-1}}^{t_i} H^*(s)ds \left[\prod_{j=i}^m (1 + L_j^*)\right] + \int_0^T H^*(s)ds\right)$$

$$0 < -d + d\left(\sum_{i=1}^m L_i + T\right) \left(\frac{1}{e^{\int_0^T K(s)ds}} + 1\right)$$

$$\times \left(\sum_{i=1}^m \int_{t_{i-1}}^{t_i} H^*(s)ds \left[\prod_{j=i}^m (1 + L_j^*)\right] + \int_0^T H^*(s)ds\right).$$

Hence

$$\left(\sum_{i=1}^{m} L_i + T\right) \left(\frac{1}{e^{\int_0^T K(s)ds}} + 1\right) \left(\sum_{i=1}^{m} \int_{t_{i-1}}^{t_i} H^*(s)ds \left[\prod_{j=i}^{m} (1 + L_j^*)\right] + \int_0^T H^*(s)ds\right) > 1,$$

which contradicts (2.3).

(ii) if b=0, then $p'(t) \le 0$. This yields $\Delta p(t_k) = L_k p'(t_k) \le 0$ so p(t) is decreasing and therefore $p(T) \le p(0) \le 0$ which is a contradiction. The proof is complete. \square

Consider the PBVP

$$\begin{cases} p''(t) = K(t)p'(t) + M(t)p(t) + N(t)p(\alpha(t)) - \sigma(t), & t \in J', \\ \Delta p(t_k) = L_k p'(t_k) + \gamma_k, & k = 1, \dots, m, \\ \Delta p'(t_k) = L_k^* p'(t_k) + \lambda_k, & k = 1, \dots, m, \\ p(0) = p(T), & p'(0) = p'(T), \end{cases}$$
(2.11)

with

(H₀):
$$K$$
, M , $N \in C(J, \mathbb{R}^+)$, $\sigma \in C(J, \mathbb{R})$, $\alpha \in C(J, \mathbb{R})$ and L , $L^* \geq 0$, γ_k , $\lambda_k \in \mathbb{R}$, $k = 1, ..., m$.

Lemma 2.3. Assume that (H_0) holds. Then $p \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$ is a solution of (2.11) if and only if $p \in PC^1(J, \mathbb{R})$ is a solution of the following impulsive integral equation:

$$p(t) = \int_0^T G_1(t,s)\sigma_1(s,p(s),p(\alpha(s)),p'(s))ds + \sum_{k=1}^m [-G_1(t,t_k)(L_k^*p'(t_k) + \lambda_k) + G_2(t,t_k)(L_kp'(t_k) + \gamma_k)], \quad (2.12)$$

where

$$\sigma_1(t, p(t), p(\alpha(t)), p'(t))$$

$$= -K(t)p'(t) + \left\lceil W^2 - M(t) \right\rceil p(t) - N(t)p(\alpha(t)) + \sigma(t), \tag{2.13}$$

for fixed W > 0, and

$$G_{1}(t,s) = \frac{1}{2W(e^{WT} - 1)} \begin{cases} e^{W(T-t+s)} + e^{W(t-s)}, & 0 \le s < t \le T, \\ e^{W(T+t-s)} + e^{W(s-t)}, & 0 \le t \le s \le T, \end{cases}$$

$$G_{2}(t,s) = \frac{1}{2(e^{WT} - 1)} \begin{cases} e^{W(T-t+s)} - e^{W(t-s)}, & 0 \le s < t \le T, \\ -e^{W(T+t-s)} + e^{W(s-t)}, & 0 \le t \le s \le T. \end{cases}$$

$$(2.14)$$

Proof. Substituting σ_1 from Eq. (2.13) into the differential equation in (2.11), we obtain

$$-p''(t) + W^2p(t) = \sigma_1(t, p(t), p(\alpha(t)), p'(t)), \quad t \in J'.$$

Then by using Lemma 2.1 of [2] we have the assertion.

Lemma 2.4. Let assumption (H_0) hold and W > 0. Moreover, assume that

$$\xi \equiv \frac{1 + e^{WT}}{2W(e^{WT} - 1)} \left(\int_0^T K(s) + |W^2 - M(s)| + N(s) ds + \sum_{k=1}^m L_k^* \right) + \frac{1}{2} \sum_{k=1}^m L_k < 1, (2.15)$$

$$\psi \equiv \frac{1}{2} \left(\int_0^T K(s) + |W^2 - M(s)| + N(s) ds + \sum_{k=1}^m L_k^* \right) + \frac{1 + e^{WT}}{2(e^{WT} - 1)} W \sum_{k=1}^m L_k < 1. (2.16)$$

Then problem (2.11) has a unique solution $p \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$.

Proof. Some ideas are taken from Lemma 2.3 of [2]. For any $p \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$, define an operator A by

$$(Ap)(t) = \int_0^T G_1(t,s)\sigma_1(s,p(s),p(\alpha(s)),p'(s))ds$$

$$+ \sum_{k=1}^m [-G_1(t,t_k)(L_k^*p'(t_k) + \lambda_k) + G_2(t,t_k)(L_kp'(t_k) + \gamma_k)], \quad t \in J,$$

where G_1 , G_2 are given by Lemma 2.3. We need to find a fixed point of the operator A. By computing directly, we obtain

$$\max_{t \in J} \{G_1(t,s)\} = \frac{1 + e^{WT}}{2W(e^{WT} - 1)}, \qquad \max_{t \in J} \{G_2(t,s)\} = \frac{1}{2}.$$

For any $x, y \in PC^1(J, \mathbb{R})$, we have

$$\begin{aligned} &\|Ax - Ay\|_{PC} \\ &= \sup_{t \in J} |Ax - Ay| \\ &\leq \sup_{t \in J} \left| \int_{0}^{T} G_{1}(t,s) [\sigma_{1}(s,x(s),x(\alpha(s)),x'(s)) - \sigma_{1}(s,y(s),y(\alpha(s)),y'(s))] ds \right| \\ &+ \sup_{t \in J} \left| \sum_{k=1}^{m} \left[-G_{1}(t,t_{k}) L_{k}^{*}(x'(t_{k}) - y'(t_{k})) + G_{2}(t,t_{k}) L_{k}(x'(t_{k}) - y'(t_{k})) \right] \right| \\ &\leq \xi \|x - y\|_{PC^{1}}. \end{aligned}$$

$$(2.17)$$

Similarly.

$$\begin{aligned} &\|Ax' - Ay'\|_{PC} \\ &= \sup_{t \in J} |Ax' - Ay'| \\ &\leq \sup_{t \in J} \left| \int_{0}^{T} -G_{2}(t,s) [\sigma_{1}(s,x(s),x(\alpha(s)),x'(s)) - \sigma_{1}(s,y(s),y(\alpha(s)),y'(s))] ds \right| \\ &+ \sup_{t \in J} \left| \sum_{k=1}^{m} [G_{2}(t,t_{k})L_{k}^{*}(x'(t_{k}) - y'(t_{k})) - W^{2}G_{1}(t,t_{k})L_{k}(x'(t_{k}) - y'(t_{k}))] \right| \\ &\leq \psi \|x - y\|_{PC^{1}}. \end{aligned}$$

$$(2.18)$$

Hence

$$||Ax - Ay||_{PC^1} \le \max\{\xi, \psi\}||x - y||_{PC^1}.$$
(2.19)

By the Banach fixed point theorem, the operator A has a unique fixed point. This completes the proof.

3. Main Results

We are now in a position to prove that the problem (1.1) has extremal solutions.

Theorem 3.1. *Let the following assumptions hold:*

- (H₁): $f \in C(J \times \mathbb{R}^2, \mathbb{R})$, $0 \le \alpha(t) \le t$, P_k , $Q_k \in C(\mathbb{R}^2, \mathbb{R})$ for k = 1, ..., m and if there exists a point $\check{t} \in J$ such that $\alpha(\check{t}) \in \{t_1, t_2, ..., t_m\}$, then $\check{t} \in \{t_1, t_2, ..., t_m\}$,
- (H₂): $y_0, z_0 \in PC^1(J, \mathbb{R}) \cap C^2(J, \mathbb{R})$ are lower and upper solutions of problem (1.1), respectively, and $y_0 \leq z_0$ on J.
- (H_3) : there exist K, M, $N \in C(J, \mathbb{R}^+)$ such that

$$[f(t, u, v) - K(t)w] - [f(t, \bar{u}, \bar{v}) - K(t)\bar{w}]$$

$$\leq K(t)(\bar{w} - w) + M(t)(\bar{u} - u) + N(t)(\bar{v} - v),$$

for $y_0(\alpha(t)) \le v \le \bar{v} \le z_0(\alpha(t))$, $y_0(t) \le u \le \bar{u} \le z_0(t)$, $t \in J$,

(H₄): there exist constants L_k , L_k^* ; k = 1, ..., m, such that

$$P_k(r(t_k), r'(t_k)) - P_k(\bar{r}(t_k), \bar{r}'(t_k)) = L_k[r'(t_k) - \bar{r}'(t_k)],$$

$$Q_k(r(t_k), r'(t_k)) - Q_k(\bar{r}(t_k), \bar{r}'(t_k)) \ge L_k^*[r'(t_k) - \bar{r}'(t_k)],$$

for
$$y_0(t_k) \le r(t_k) \le \bar{r}(t_k) \le z_0(t_k), k = 1, ..., m$$
,

(H₅): the functions K, M, $N \in C(J, \mathbb{R}^+)$ and constants $L_k \ge 0$, $L_k^* \ge 0$, k = 1, ..., m, satisfy (2.3), (2.15) and (2.16).

Then problem (1.1) has extremal solutions in $[y_0, z_0] = \{w \in PC^1(J, \mathbb{R}) : y_0(t) \le w(t) \le z_0(t), t \in J\}.$

Proof. Consider the following sequence:

$$\begin{cases} -y_n''(t) = Fy_{n-1}(t) - K(t)[y_n'(t) - y_{n-1}'(t)] - M(t)[y_n(t) - y_{n-1}(t)] \\ -N(t)[y_n(\alpha(t)) - y_{n-1}(\alpha(t))], & t \in J', \\ \Delta y_n(t_k) = P_k(y_{n-1}(t_k), y_{n-1}'(t_k)) + L_k[y_n'(t_k) - y_{n-1}'(t_k)], & k = 1, \dots, m, \\ \Delta y_n'(t_k) = Q_k(y_{n-1}(t_k), y_{n-1}'(t_k)) + L_k^*[y_n'(t_k) - y_{n-1}'(t_k)], & k = 1, \dots, m, \\ y_n(0) = y_n(T), & \\ y_n'(0) = y_n'(T), & \\ -z_n''(t) = Fz_{n-1}(t) - K(t)[z_n'(t) - z_{n-1}'(t)] - M(t)[z_n(t) - z_{n-1}(t)] \\ -N(t)[z_n(\alpha(t)) - z_{n-1}(\alpha(t))], & t \in J', \\ \Delta z_n(t_k) = P_k(z_{n-1}(t_k), z_{n-1}'(t_k)) + L_k[z_n'(t_k) - z_{n-1}'(t_k)], & k = 1, \dots, m, \\ \Delta z_n'(t_k) = Q_k(z_{n-1}(t_k), z_{n-1}'(t_k)) + L_k^*[z_n'(t_k) - z_{n-1}'(t_k)], & k = 1, \dots, m, \\ z_n(0) = z_n(T), & z_n'(0) = z_n'(T), & z_$$

for n = 1, 2, ... Moreover, by Lemma 2.4, we have y_1, z_1 are well defined.

We show first that

$$y_0(t) \le y_1(t) \le z_1(t) \le z_0(t), \quad t \in J.$$
 (3.1)

Let $v = y_0 - y_1$. By Definition 2.1 of a lower solution of (1.1), we have

$$\begin{split} v''(t) &= y_0''(t) - y_1''(t) \\ &\geq F y_0(t) - F y_0(t) - K(t) [y_1'(t) - y_0'(t)] - M(t) [y_1(t) - y_0(t)] \\ &- N(t) [y_1(\alpha(t)) - y_0(\alpha(t))] \\ &\geq K(t) [y_0'(t) - y_1'(t)] + M(t) [y_0(t) - y_1(t)] + N(t) [y_0(\alpha(t)) - y_1(\alpha(t))], \end{split}$$

or

$$v''(t) \ge K(t)v'(t) + M(t)v(t) + N(t)v(\alpha(t)),$$

and

$$\begin{split} \Delta \nu(t_k) &= \Delta y_0(t_k) - \Delta y_1(t_k) \\ &= P_k(y_0(t_k), y_0'(t_k)) - P_k(y_0(t_k), y_0'(t_k)) - L_k[y_1'(t_k) - y_0'(t_k)] \\ &= L_k \nu'(t_k), \quad k = 1, \dots, m, \\ \Delta \nu'(t_k) &= \Delta y_0'(t_k) - \Delta y_1'(t_k) \\ &\geq Q_k(y_0(t_k), y_0'(t_k)) - Q_k(y_0(t_k), y_0'(t_k)) - L_k^*[y_1'(t_k) - y_0'(t_k)] \\ &= L_k^* \nu'(t_k), \quad k = 1, \dots, m, \\ \nu(0) &= y_0(0) - y_1(0) \\ \nu(T) &= y_0(T) - y_1(T) \\ \end{pmatrix} \Rightarrow \nu(0) &= \nu(T), \\ \nu'(0) &= y_0'(0) - y_1'(0) \\ \nu'(T) &= y_0'(T) - y_1'(T) \\ \end{pmatrix} \Rightarrow \nu'(0) \geq \nu'(T). \end{split}$$

Then, by Lemma 2.2, $v \le 0$, which implies $y_0(t) \le y_1(t)$, $t \in J$. In a similar way, we can show that $z_0(t) \ge z_1(t)$, $t \in J$.

Next, we will show that $y_1(t) \le z_1(t)$, $t \in J$. Let $p = y_1 - z_1$ then, we obtain

$$p''(t) = Fz_{0}(t) - K(t)[z'_{1}(t) - z'_{0}(t)] - M(t)[z_{1}(t) - z_{0}(t)]$$

$$-N(t)[z_{1}(\alpha(t)) - z_{0}(\alpha(t))] - Fy_{0}(t) + K(t)[y'_{1}(t) - y'_{0}(t)]$$

$$+M(t)[y_{1}(t) - y_{0}(t)] + N(t)[y_{1}(\alpha(t)) - y_{0}(\alpha(t))]$$

$$= Fz_{0}(t) - Fy_{0}(t) + K(t)[y'_{1}(t) - y'_{0}(t) - z'_{1}(t) + z'_{0}(t)]$$

$$+M(t)[y_{1}(t) - y_{0}(t) - z_{1}(t) + z_{0}(t)]$$

$$+N(t)[y_{1}(\alpha(t)) - y_{0}(\alpha(t)) - z_{1}(\alpha(t)) + z_{0}(\alpha(t))], \qquad (3.2)$$

or

$$p''(t) \ge K(t)p'(t) + M(t)p(t) + N(t)p(\alpha(t)),$$

and

$$\begin{split} \Delta p(t_k) &= \Delta y_1(t_k) - \Delta z_1(t_k) \\ &= P_k(y_0(t_k), y_0'(t_k)) + L_k[y_1'(t_k) - y_0'(t_k)] \\ &- P_k(z_0(t_k), z_0'(t_k)) - L_k[z_1'(t_k) - z_0'(t_k)] \\ &= L_k p'(t_k), \ k = 1, \dots, m, \\ \Delta p'(t_k) &= \Delta y_1'(t_k) - \Delta z_1'(t_k) \\ &= Q_k(y_0(t_k), y_0'(t_k)) + L_k^*[y_1'(t_k) \\ &- y_0'(t_k)] - Q_k(z_0(t_k), z_0'(t_k)) - L_k^*[z_1'(t_k) - z_0'(t_k)] \\ &\geq \nu L_k^* p'(t_k), \ k = 1, \dots, m, \\ p(0) &= y_1(0) - z_1(0) \\ p(T) &= y_1(T) - z_1(T) \\ \end{pmatrix} \Rightarrow p(0) &= p(T), \\ p'(0) &= y_1'(0) - z_1'(0) \\ p'(T) &= y_1'(T) - z_1'(T) \\ \end{pmatrix} \Rightarrow p'(0) \geq p'(T). \end{split}$$

Still by Lemma 2.2, $p \le 0$, which implies $y_1(t) \le z_1(t)$, $t \in J$ as required. Using mathematical induction, we can show that

$$y_0(t) \le y_1(t) \le \cdots \le y_n(t) \le z_n(t) \le \cdots \le z_1(t) \le z_0(t)$$

for $t \in J$ and $n = 1, 2, \dots$ Employing a standard argument, we have

$$\lim_{n\to\infty} y_n(t) = y(t), \qquad \lim_{n\to\infty} z_n(t) = z(t)$$

uniformly on $t \in J$, and the limit functions y, z satisfy problem (1.1). Moreover, y, $z \in [y_0, z_0]$.

In the next step we will show that y is the minimal solution and z is the maximal solution of (1.1). To prove it we assume that u is any solution of problem (1.1) such that $u \in [y_0, z_0]$. Let $y_{n-1}(t) \le u(t) \le z_{n-1}(t)$, $t \in J$, for some positive integer n. Put $v = y_n - u$. Then

$$v''(t) = -Fy_{n-1}(t) + K(t)[y_n'(t) - y_{n-1}'(t)] + M(t)[y_n(t) - y_{n-1}(t)] + N(t)[y_n(\alpha(t)) - y_{n-1}(\alpha(t))] + Fu(t)$$
(3.3)

or

$$v''(t) \ge K(t)v'(t) + M(t)v(t) + N(t)v(\alpha(t)),$$

and

$$\Delta v(t_{k}) = \Delta y_{n}(t_{k}) - \Delta u(t_{k})$$

$$= P_{k}(y_{n-1}(t_{k}), y'_{n-1}(t_{k})) + L_{k}[y'_{n}(t_{k}) - y'_{n-1}(t_{k})] - P_{k}(u(t_{k}), u'(t_{k}))$$

$$= L_{k}v'(t_{k}), \quad k = 1, ..., m,$$

$$\Delta v'(t_{k}) = \Delta y'_{n}(t_{k}) - \Delta u'(t_{k})$$

$$= Q_{k}(y_{n-1}(t_{k}), y'_{n-1}(t_{k})) + L_{k}^{*}[y'_{n}(t_{k}) - y'_{n-1}(t_{k})] - Q_{k}(u(t_{k}), u'(t_{k}))$$

$$\geq L_{k}^{*}v'(t_{k}), \quad k = 1, ..., m,$$

$$v(0) = y_{n}(0) - u(0)$$

$$v(T) = y_{n}(T) - u(T)$$

$$\Rightarrow v(0) \geq v(T),$$

$$v'(0) = y'_{n}(0) - u'(0)$$

$$v'(T) = y'_{n}(T) - u'(T)$$

$$\Rightarrow v'(T) \geq v'(T).$$

Hence, $y_n \le u$, $t \in J$, by Lemma 2.2. Similarly like the above, we can show that $u(t) \le z_n(t)$, $t \in J$. This yields $y_n(t) \le u(t) \le z_n(t)$, $t \in J$.

Finally, if $n \to \infty$, then

$$y_0(t) \le y(t) \le u(t) \le z(t) \le z_0(t), \ t \in J.$$

This completes the proof.

Acknowledgements. The authors would like to thank the referee for their comments and suggestions on the manuscript. Especially, we would like to thank Dr. Elvin James Moore for valuable advice. This research is supported by the Centre of Excellence in Mathematics, Thailand.

References

- [1] D. Bainov and P. Simeonov, *Impulsive Differential Equations Periodic Solutions and Applications*, Longman Scientific&Technical, New York, 1993.
- [2] W. Ding and M. Han, Periodic boundary value problem for the second order impulsive functional differential equations, *Appl. Math. & Comp.* **155** (2004), 709–726.
- [3] T. Jankowski, Existence of solutions for second order impulsive differential equations with deviating arguments, *Nonlinear Anal.* **67** (2007), 1764–1774.
- [4] T. Jankowski, First-order impulsive ordinary differential equations with advanced arguments, *J. Math. Anal. Appl.* **331** (2007), 1–12.
- [5] V. Lakshmikantham, D.D. Bainov and P.S. Simeonov, *Theory of Impulsive Differential Equation*, World Scientific, Singapore, 1989.
- [6] R. Liang and J. Shen, Periodic boundary value problem for second-order impulsive functional differential equations, *Appl. Math. Comput.* **193** (2007), 560–571.
- [7] X. Yang and J. Shen, Nonlinear boundary value problems for first order impulsive functional differential equations, *Appl. Math. Comput.* **189** (2007), 1943–1952.

Chatthai Thaiprayoon, Department of Mathematics, Faculty of Applied Science, King Mongkut's University of Technology North Bangkok, Bangkok 10800, Thailand. E-mail: tik_kengjang@hotmail.com

Jessada Tariboon, Department of Mathematics, Faculty of Applied Science, King Mongkut's University of Technology North Bangkok, Bangkok 10800, Thailand; Centre of Excellence in Mathematics, CHE, Sri Ayutthaya Rd., Bangkok 10400, Thailand.

E-mail: jessadat@kmutnb.ac.th

Preya Khumsup, Department of Mathematics, Faculty of Applied Science, King Mongkut's University of Technology North Bangkok, Bangkok 10800, Thailand. E-mail: pcs@kmutnb.ac.th

Revised December 8, 2009 Revised May 5, 2010 Accepted November 4, 2010